FA: NS A

o XAAE RENL(IELTANL /NS LETA)

el XNSzm8he

BN B G9(E) - HRA - oled
XS & Al 10,069, 145 9,973,008 96,137
= 1,100,000 1,000,000 100,000
X 4,165,000 4,165,000 0
== 4,804,145 4,808,008 A3,863
NEAS DENLH(ZELXSNL/NSLZAI) 10,005,000 9,910,000 95,000
= 1,100,000 1,000,000 100, 000
Xl 4,165,000 4,165,000 0
= 4,740,000 4,745,000 A5,000
NEZENE 10,005,000 9,910,000 95,000
= 1,100,000 1,000,000 100,000
Xl 4,165,000 4,165,000 0
=3 4,740,000 4,745,000 25,000
SAAEZZHA(PIS) RE(21) 100,000 0 100, 000
= 100,000 0 100,000
403 XX XS XH201& 100,000 0 100,000
= 100,000 0 100,000
01 RXISM =22 X 100,000 0 100,000
©'17d8 TAAHEZEMA *5 100,000 0 100,000
= 100,000 0 100,000
HE0l AAaZ ZI| A JHE 30,000 35,000 A5,000
308 AIXISHHE0IH 10,000 15,000 25,000
01 UAXEHBLAEES 10,000 15,000 25,000
OYZOl Athz 2D| &AL =& 10,000 15,000 25,000
HPES(XISZAID)(IIEHDIIE) 1,137 0 1,137
SEAXE 1,137 0 1,137
NEEZA 22 BHES 1,137 0 1,137
802 EH&+3 DI Et 1,137 0 1,137
01 =z NExIeE=a 1,137 0 1,137
©'14d [ENQ et A=K 1,137 0 1,137
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